1:]-_0_ =3
S % A7k ohd A7
AT

@ 6X

. :r 189] Hj-5-oF& 3 ©]

. doMite ATl Utk A
x=20°]H 3x:6°]1’4"

@x+1<0

B Arztge
2+ o] Al Wzte] =2719] &
k& 180° o]t}

B

wrghct

et @, O

U @<= x o :
- 94 oxﬂoJ—
HO% o f}bﬂ et %}oi;_g P

30
Rl
N
o,
ne,
4>
H1
5
lo




e BA FollA I 7ol el Ae BF a=2w?

®2<V6<3 @)2%= 257} ol
®2>3E=3<5 @2s\/§<3
® 24+ 4%} 69] FufjSo|tt,

AR PA o] FAHL2 Folug AZ FAE o At O,
®, @ &l FAolL, 2& & 7 @
@= AR FA oI,




3. S Fra vl (ar 1) (b 1) ol Aggrer

@ 7 @ 8 639 @ 10 ® 11

a—i—l) b—|——>=ab—|—4—i—1+i

b a ab
4 / 4

= b+ — > 21/ab - —

Eh +ab_5+ a ab

=5+4=9

s EERE 9




AAHSE U ol Histed F 24 p, ¢ & WESHE HEE
Sl opzk BAl p o~ g 7D W, e T w2 A2
® PcQ @ PcQ @Qcpc

@ PUQ=U ® PNnE=0

3

_|_4
o

B

BA p o~ g 7H I ER
P c Q°

S (Q°)° c P

& QcC P




1]

2
[e= =S
HAT

o %7 e}
poletn W 4

oF
5
&S

= BA FollA HEEA]

ol 7

2 5
I w&a ol

o}y
o)

B
T
-
©

o] @1 Ao &t

B

@

o] 9] gt

&4

=0l ¥ FH. o

ol 9= ol c}. A

z}
=

YA}

o .
ol 7T
T
i <
i &
3
T
BOX
o
g
Ry
5 9
oR =
A
e
hw  ®
%8 o| o
ﬂ%%ﬂ
of X o M
MQLT_,._AI
o BT
T o @




6. AN FA=3vV3-1, B=V3+2 C=2vV3+19 A& TAE v=4
Uebd A-29

O C<B<A @ A<B<C ® A<C<B
@B<A<C ® B<C<A

B

i)A-B=(3V3-1)-(V3+2)
=2V3-3=V12-v9>0
. A>B

i) B-C=(V3+2)-(2V3+1)
=1-143<0
“B<C

i) C-A=(2V3+1)-(3V3-1)
=2-V3=+Vi-V3>0
LC>A

u2td B<A < C




)
)
N,
Oft

A-T U = {0, 1, 2, 3, 4, 5p°f tiste] 2 x* -2 > 0] 71213

ON" @ {0, 1 ® {3, 4, 5}
@{2, 3, 4, 5) ® U

FolR 2 x2-2> 0 x=0= HYsHHO -2 > 0 (AH)
st 1-2> 0 (AR)
dstH 4-2> 0 ()

ddstd 9-2>0 ()
st 16 -2 >0 ()
dstA 25 -2 > 0 ()
%,

urebA] Fote A=A (2, 3, 4, 5)




8. x, y7FAEO|T 2 +3y2 =102 T x + 3y 2] HHZH2?

@ 5 @ 6 @ 8 @ 9 @10

B

x,y7t AgolB g
FA|-grHt2 2 BS540 o]a}e]
(12 + 3%)(#® +y%) 2 (x + 3y)?
ol off, x> +y? = 10°] 22

100 > (x + 3y)?

S -10<x4+3y<10

i =

3
kA ZTgh2 10010

(&, Eskyx=29 A9)




D p:a>3,q:a>>9
@p:xt39ms, g x 202 b

@ p:x=10°Ay=1qg:x+y=20°Axy=1
@ p:lx-1=2,¢g:x>-2x+3=0

® p:a<b,q:la <|bl

g=>pZQcpP AL V2T
@q:xE69 T =p:xe39 85 (3




10. A =EAp, g rel ot ~p=gq, r=~qg <L o, 2 p 7} r 0]7]
st P aFEZAHH th 5 ofH 70| o H Qs

O p>gq @ qg=>r @p:r

@ ~g=>p ® ~r=p

r=~q°lB&Z g=~r
=g OlT g r OB 2 AR ko] - p o s
. r=p

T2, p o r7t EER r = p ol9jell p= r 7t o " asie




